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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Official Language (Malayalam).
Doubts regarding the meaning and translation of Question Serial No. 1 to 70 will be settled
based on the Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statements are true about social reform movement in

Kerala ?

(i) It was initiated and led by the middle class under the influence of western
ideas.

(ii) They had a critical attitude towards traditional institutions, beliefs and social
relations.

(iii) They seldom criticised caste hierarchy.

A) Only (i) and (ii) B) Only (i) and (iii)

C) Only (ii) and (iii) D) All of the above (i, ii and iii)

2. Who established Abhinava Bharata Yuvak Sangham ?
A) E.M.S. Namboothiripad B) P. Krishnan Pillai
C) K. Damodaran D) A. V. Kunhambu

3. A list of political events occurred in the 1930s in Kerala wherein women largely
participated is given below. Choose the correct match.
(i) Gandhiji's Constructive Programme — T.C. Kochukutty Amma
(ii) Girl Students Strike at Chalappuram Government School — Jayalakshmi
(iii) Temple Entry Programme — P. M. Kamalavathy
A) All of the above B) Only (i) is correct
C) Only (i) and (iii) are correct D) Only (ii) and (iii) are correct

4. Among the following statements which are true in relation to the event of the Partition
of Bengal ?
(i) Lord Curzon issued the order of dividing the province of Bengal.
(i) It was meant to stem the rising tide of nationalism.
(iii) Indian nationalists did not see the partition as an attempt to divide Indians on
religious ground.
A) All are true B) Only (i) and (ii) are true
C) Only (i) and (iii) are true D) Only (ii) and (iii) are true

5. Among the following statements which are true about the imposition of Emergency

in 1975 ?

(i) It was imposed under Article 352 of the Constitution.

(i) The proclamation of Emergency suspended the federal provisions of the
Constitution and Fundamental Rights and Civil Liberties.

(iii) A series of decrees, laws and constitutional amendments reduced the power of
judiciary to check the functioning of the executive.

A) Only (i) and (ii) B) Only (i) and (iii)

C) Only (ii) and (iii) D) All of the above (i, i, iii)

6. Who instituted the land revenue system named Dahsala ?
A) lltutmish B) Sher Shah C) Akbar D) Aurangazeb
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1. ©96% aloMAIRIE a@moem e-O8@TIOA! MOMaClE: al@lai®nHem (aIAOME@D
avoenIaullo oAl (oM ?
(i) asvziommies CVPWIM@BIE awIBYMIEN OE EDOCElBHIBWI0 MWHe)H®)0
6)01Q®).
(i) @OAIRES) alEMUIEdMN® AVAdAIMETBU, AflKdPIVETRUS, TVOMIACSE: RITMWETBUD ag)TIlQIEWIS
Qfla@uomoamde: MEMIBIU0 N30Ty,
(iii) @oaId gorllalimue® @oa b0l Afladudl.oy.

A) (i) eo (ii) 0 @o@o B) (i) oo (iii) 0 @o@o

C) (ii) oo (iii) ®o @o@o D) ea@qjoemmal agygjoo (i, i and iii)
2. @EIMAl BOO®m WAL Muoetlo Mundailojm @R® ?

A) . ago. agym. mmy@I@la]os B) all. gyadiemad allag

C) e®. Boemoc0M D) ag). afl. exemmmy

3. 1930 o:6l@ (Yldx0d £SI@RI0W alOB:SIOD CHOMTIOR! 00U MOBAIETBRIOS a il @6
E)R0SHE M. BOUQIGD LVAWOW E)aIOBYBNO BIOEETTMSIHED:.
(i) womilgdlyes #:6ndReglal G(alo@do — Sl. MIl. e1B:0.0)ES] @D
(i) 21081000 MO mEleal allapd@daie.ges mare — Kweldy
(iii) e@aIeU0Om aldlatds] — afl. ag)o. a0l
A) &l alOemmA ag)gjoo B) (i) @o@o vodlosmy
C) (i) oo (iii) 0 mo@o vodloery D) (ii) &o (iii) &0 @o@o vodl@oemy

4. 6niondtd AflermaymI©l MINWERS, ®IOY alOWIMM (IMPOUMNBEIT LAWOV® afy®) ?
(i) entomo®d (alaflvey Afleeflonomas S@MAOT ddaVem (16} a yoea|siflop.
(i) ey eauilem@es AUdALl o QM calellewro MSWIM HEGUloLER® @I,
(i) omalomO® @PSIMNOMETIE DD IEno00 Alleelsnomes MmO @Elem eamymd

GBUIIAIIEIED H6NElg).
A) ag)gjoo vodloeny B) (i) 9o (ii) &0 mo@o
C) (i) oo (iii) 0 mo@o D) (ii) oo (iii) 0 @o@o

5. 1975 @ @rsloasleoclmn aljoeqe]siaflgjdlemendle] @oey oM Elwow
(IOQUM a@@moen ?
(i) eosmeaism@es 352-00 Qldlal [18:00006m 0@ 2 ROV,
(ii) @oSloasiloonmAEeSs (a6l PalMo BOEMRRISM®IOS MDENE:INIBONEIBEI0, HANWOTD
QUIQUROBE0, aIDOIUBINETBEI0 IMLHIE]B000f MA@ T,
(i) EMOAYE8ESW]0, HWNEBRIESW)0 BEMALISMI CBRUMIEGIESWI0 alOMUIABUWD ag);]
& yslafleon (ad@mMo al@lerdwlenomies eallatiGleles @oulle:000 0y,
A) (i) so (ii) 0 @o@o B) (i) oo (iii) 0 mo@o
C) (ii) &o (iii) ®o mo@o D) ayeel@ atosmmatewg)oo (i, i, ii)

6. Dahsala agm @yall oauimy moallwomo qundail.oje @od ?
A) sodd@myailad B) catd oo C) @nssenid D) &evoomemvent
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11.

12.

Among the following combinations which one correctly represents the effects of
World War | ?

A) Collapse of Habsburg Empire, Russian Revolution, United Nations

B) Russian Revolution, United Nations, Revolt of Germany

C) Collapse of Habsburg Empire, Russian Revolution, League of Nations

D) Revolt of Germany, Collapse of Habsburg, United Nations

Read the following statements and then choose the correct answer.
Statement 1 : French Revolution began as an assertion of National Sovereignty.

Statement 2 : The National Assembly in 1790 demanded that France could never
make war except in self-defence.

A) Both are true B) Only Statement 1 is true

C) Only Statement 2 is true D) Both are false

The idea of abandonment of parliamentary democracy in favour of a ‘dictatorship
of the proletariat’ was associated with

A) American Revolution B) French Revolution

C) Russian Revolution D) None of the above

The three pillars of Jawaharlal Nehru's development strategy in post-independent

India were

A) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a mixed economy

B) Planning for rapid industrial and agricultural growth, a public sector to develop
strategic industries, a mixed economy

C) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a capitalist economy

D) Planning for rapid industrial and agricultural growth, a private sector to develop
strategic industries, a socialist economy.

Which of the following statement is/are correct about relative humidity ?
(i) How much water vapor is in the atmosphere as a percentage of the maximum
amount possible ?
(ii) Low relative humidity indicates relatively dry atmospheric conditions, while high
relative humidity indicates relatively humid atmospheric conditions.
(iii) The relative humidity is high, less water evaporates from the skin because the
surrounding atmosphere is already relatively moist, leaving the skin surface

hotter.
A) Only (i) and (ii) B) Only (i) and (iii)
C) Only (ii) and (iii) D) All the above (i, ii, iii)

Which of the following are the tributaries of River Periyar ?
1) Mangalapuzha 2) ldamalayar 3) Gayathripuzha
Select the correct answer using the codes given below :
A) 1 and 2 only B) 1 and 3 only
C) 2 and 3 only D) 1,2and 3
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7. ®6)% alOWIMM dhISIOGIEEIT af@mIEN BMO0 GRIDGDMANIWELETIENS anIEIEGd (odl@IW
(I@SIdluSle@leeoma ?
A) aoenimienidul Mo@ogi@lem @b, Oany® aflgjalo, Hag)d:i0oHmE
B) OattjM Qflgjalo, ag)d:0UmME, BdMMIQIeal Heldalo
C) aonenimierudel mo@ogjemsilen medol, Oauyid allgjalo, eflul 8oad emauddmy
D) edmmleleal @edalo, a0mimisridullon me:d.o], Hag)d:)00eyane

8. 6¥ aJOWIM (IMOAIMEB:W QOW.o] VEIWIW HEMOO EOOETMSIEE)E:.
(oo 1 & el alE@IUWIE:006MM BOCLG:OCNIIBMOWIEN ([aner2iilg jalo @S6uElw).

(oRoQUM 2 1 (V@0 (aIElE0Wo @OLVO® (NOMMIM Bdleneago @ave RWlenomoaiegjary
1790 2! caudle @oaVoeNIEl @OAIE0006Q|S).

A) 06ms) (Imoaimde:glo todlwosny B) smoaem® aimpoaim mo@mden vod]
C) 06m00e@® (Impoalm mo@aden tod D) 6ns) (aImpoaimegio &mEoen

9. &M oUflal® @MY @OMELINOQ] alodelIenMA] MoUSlal® o OCaloHlens: ag)dM @BUWo
ag) @] enimwea]gldlenymy ?
A) @pcadlend aflgjalo B) (aneral aflgyalo
C) oauyad aflgjalo D) oueglldd e:05)@dildlenymailed emmymg)
10. aup@EmPMImE OB leal 8laO®dRI0d HMadOiilen alle-avm mEDEBIlOd My @eme:d
a@l ?
A) @oailenln aljIMI®, $:000Hle: USROS @DV@EMo, @M lOMIW
QLMW ETBUWBHHIW 630 (V00 Ga6AI, 630} uailuy Qljalon.
B) moaileain al UV, B0kl QIR 2JIAS @DIVY®EMO, ®(MMalOMOIW
QIQUMOWETBRHH0W] 630} O lomGMEIA], 630} MVOMlY? LMIGALNIMO
C) moaileain QIO #:000dle: QISR QS BBM@EMOo, ®(TMAlOMOW
QIQIMIETBUREHIWS 6@ (V600 GREUARI, B0 MMAINEIE qVMIGALIMA.
D) @oailenlmn aljnimow, ¢:000Hle: GRelRIIOs @BIV@eMo, @ ((Mal0mOw
QIQIMOIETBUEHIWS 630 VB0 GREUAI, 630} Grdarallay mumIcaljnImA

11, ©26¢ alo@MAIRIE a@®) (EIPIAUMWIET @DEalH:HlH> 0Vda]eEDHN 2
NOlIDILER® ?

(i) @PODEleET ag)@2(@o Mool HOMBME @YO®: HENBICWBNHIAMIOR riluaiwm
O@@IMNAIEM:

(ii) @061 @G IEHB> EDDVBA o @IE@EDIM QENS @OHE|EH @PAIMNOH® TV} 2 fla lonyamy.
ag)MO@ HWAMM @DEaIL DVDajo MIOMEDIM DVDAMER EPANAHUEED (Vo
allesyomy.

(iii) EOEaIele: DVDalo BISIOT OBREQOD GIOMEDIM QUKD BY0Q)) BLlo MO(@C
®o61ed oo 6nI0adlE:@lHHOHAISHTMRR). B-006MO, 2 RAIMIER ERADDG:HO GIOMED,YM
DV MBR®0, @O® 2IOMOTIOM OalCIOAICHIT £SO 2)S HENBIHHNM®0

@Y6M.
A) (i) so (ii) 90 @o@o B) (i) oo (iii) 0 @o@o
C) (ii) &o (iii) ®o mo@o D) ayeel@ atosmmaltewg)oo (i, i, ii)

12. 6% a10QIMAURI@ af®oen Oal@lod MEIWAS Galdatds MEl:W ?
1) @omealqpy 2) ensoeiwod 3) wow(@lae
®IOY AlOWIM BHIU HalBWIUI.o] HODOO BH6)ENBMT)E:.
A) 1 90 2 90 mo@o B) 1 80 3 90 mo@o
C) 2 90 3 9o mo@o D) 1802 80380
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13. Match the List — | with List — Il and select the correct answer from the codes given

14.

15.

16.

17.

below.
List -1 List -1l
(Divisions of Himalaya) (Rivers)
a) Punjab Himalaya 1) Sutlej to Kali
b) Kumaon Himalaya 2) Indus to Sutlej
c) Nepal Himalaya 3) Tista to Brahmaputhra
d) Assam Himalaya 4) Kalito Tista

(@ () (c) (d)
AVd 2 1 3

B2 1 4 3
c)2 4 3 1
D)1 2 3 4

What are the factors affect the strength and direction of wind ?
1) Pressure gradients.
2) Coiriolis effect.
3) Friction.
Select the correct answer using the codes given below :
A) 2 and 3 only B) 1 and 3 only C) 1 and 2 only D) 1,2and 3

Consider the following statements :
1) Intense seismic activity occurs along convergent lithospheric plate boundaries.
2) Convergent lithospheric plate boundaries, oceanic plates are undergoing

subduction.
Which of the statements given above is/are correct ?
A) 1 only B) 2 only
C) Both 1 and 2 D) Neither 1 nor 2

Which of the following objectives related to the Fiscal Responsibility and Budget
Management Act (FRBMA), 2003 are correct ?
(i) Fiscal deficit is to be reduced to 5% of GDP.
(ii) Complete elimination of revenue deficit.
(iii) Greater transparency in fiscal operations.
A) Only (i) and (ii) B) Only (ii) and (iii)
C) Only (i) and (iii) D) All of the above (i, ii and iii)

Calculate the NNP at factor cost from the following data :

NNP at Market price : Rs. 5,000 crores, Indirect taxes : Rs. 400 crores,
Subsidies : Rs. 200 crores.

A) Rs. 5,600 crores B) Rs. 5,200 crores

C) Rs. 4,800 crores D) Rs. 4,400 crores
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13. 180 Il 9o ellgfler cale:td ¢.2lMy0n 116 1RO, 66305 @EINM CBOWU}IIUSl o HEMmo

BOENBOTYE>.
eflgy — | eillagy — Il

(aoloci@EwIORl (nEled)
asladlagion)emd)

a) aleroent adlmori@o 1) meieeied s) ©08

b) ®yemo6d adlmoriwo 2) s sy meeried

C) &Moo adlmoei®o 3) Sl s} (ladaly®

d) @@moo adlmoaiwo 4) 06 53 Sl

(@ (b) (c) (d)
Ad 2 1 3
B2 1 4 3
C)2 4 3 1
D)1 2 3 4

14. ®oglem Cltecwio NEIlER®Io eNIOUSIENHIMM CLISEH:ETBUD AROMmIOHE @A) ?
1) 2daLALY® PAVEIBR.
2) ee00leworllmy snandsy.
3) caidausmo.
®96)9 E)BISIOTIBIHEM B0 HalEWIUI] 2] LVBIWIW HEMDO @OEETMHSIHED>.
A) 2 90 3 9o mo@o B) 1903 80cm@o C) 1902 s0m@mo D) 1,28&3

15. 6% aJOQIM (AIMOAUIMEWD al@lwenseeds.
1) dfllumow gje-mI (aldemmo elle@momienandiss tglq @@IlE:El@ mosalleniom.
2) eomeolomM ele@momieandle: GglF @MI0IBHINS MMYBANLIBETBWD MVEIAEHMY

aflew@moapmmy.
GO alOMMHAUQIG LVAWIVW® oR® /oGl ?
A) 1 oo@®o B) 2 ao@o
C) 1902 9o wndl D) 1 802 g0 omg

16. adlp@ eomieaterdmienieldl @ snieg nosmennd @og (FRBMA — 2003) aowf
NITWOQS ®IOY OV LIHHIETBEIT aR@®I6T) AlWIWISIER®) ?
(i) wmneeodl GDP @yes 5% @il e:iomemo.
(i) oaum el a ydepmoall gjomoseemo.
(iii) oMU BIBs (IIBREHMETBEI@ BLSIMT VIO I® GQUEMO.
A) (i) so (ii) 0 @o@o B) (ii) &o (iii) ®0 @o@o
C) (i) oo (iii) 0 @o@o D) ouesl@d alosmma agygoo (i, it and iii)

17. ®61¢ a10@mm aog@il@d ailom anddgpd afleig) NNP e:eme6ose)..

NNPwyos aflaierlafer @ ojat 5,000 6808, alc@ody Mol @ ool 400 ewos],
avenimflal] : et 200 509,

A) @at: 5,600 es0s] B) @il : 5,200 ee:08]

C) myal: 4,800 ew>08 D) a1 : 4,400 @09
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18.

19.

20.

21.

22.

23.

24.

25.

The major instruments used by the Reserve Bank of India to control credit include
(i) Bank Rate.
(ii) Variable Reserve Requirements (CRR&SLR).
(iii) Open Market Operations.
Which of the statements are correct ?
A) All are correct B) Only (i) and (ii) C) Only (ii) and (iii) D) All are wrong

Among the major objectives of some Five Year Plans in India, which one is in a
correct (ascending/chronological) order ?

(i) Inclusive growth

(ii) Rapid industrialization

(iii) Agricultural development
(iv) Poverty eradication

A) (iii), (i), (i), (iv) B) (iii), (ii), (iv), (i)

C) (i), (iii), (iv), (i) D) (iii), (iv), (ii), (i)

Nobel Prize for Economics in 2020 was awarded to Paul R. Milgrom and
Robert B. Wilson for their contribution in

A) Improvements to auction theory and inventions of new auction formats

B) Behavioural economics

C) Integrating technological innovations into long run macroeconomic analysis
D) Experimental approach to alleviating global poverty

Which is the portable document format version of the election photo identity card ?

A) E-EPIC B) E-EPID C) e-EPIC D) EEPIC
The bank authorized to issue and encash Electoral Bonds in India

A) Reserve Bank of India B) State Bank of India

C) Union Bank of India D) All the above

The idea of separation of powers implies

(i) That the same person should not form part of more than one organ of the
government.

(ii) That one organ of the government should not control or interfere with the exercise
of its function by another organ.

(iii) That one organ of the government should not exercise the functions of other.

A) (i) and (ii) only B) (i) and (iii) only

C) (ii) and (iii) only D) All the above

of the Constitution indicate that the people of India are the source of
authority behind the Constitution.

A) Article 1 B) The word Sovereign

C) The Preamble D) Part Il

Which of the following is not a classical language in India ?

A) Hindi B) Odiya C) Malayalam D) Tamil
-8-
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ey MloOsllenom lavdal enios: edad M) HAICIUTHNIMM Oald06METBUd 6
a10QIMAUI@ oRO®OIOHE ?

(i) enuoms los).

(ii) ccudlwenll®d dleavda] @ecimnemntd (CRR&SLR).

(iii) @yomm aflatem] alcLEBRD.
BOM alOMHAUQIGD Lol af®) /ol ?

A) ag)gjoo wdl@oemy  B) (i) oo (i) o C) (ii) oo (iii) ®o D) agygjoo emaosny
DO JWOS 2flal aleRAIAIBVO alALBIERIOS (@IWOM Lld:H |6TBUID IO H)BISIOTIBIH6LM].
@OCUQIOS @DEOIANEM (BHAO /0L (A alSlds af@mO6) ?

(i) cvaw usday

(i) syoucioles alQIMI® AUGEHEMo
(i) ®00aHe Qfldaamo
(iv) codle aldomodwemo

A) (iii), (i), (i), (iv) B) (iii), (ii), (iv), (i)

C) (i), (iii), (iv), (i) D) (iii), (iv), (i), (i)

2020 eal MomMIEEIle:000((REBIeAl GMIENITD aREMIBNHIOMTIM Galotd @d aldewono,
6006nIdg endl. aflddavemio @OV @OAIMES ag®) MoRININE) @M ?

A) ceer milavommesiiand aymdaildamialeno alailw eaal cnnodmoglom eemiallslam
(tsmﬂm&o

B) eaiqmog muomi@mile. oo

C) 2060 ag)sseemadiigilom Gldcalsorio Qfltadaimo 6.21QRAINMIAS Moo ®
MoeE@N0IB Jea16S drengiallSlem@siay

D) moemnog 3030 £Iea)e:@lenmMaimes al@le:uemocmds: qudlalm@ssiay

@066mmSia] €ane30 @IEloGl@® H:00UleM Ealodgenilid I, Read canodmog alwilaf
®o6m ?
A) E-EPIC B) E-EPID C) e-EPIC D) EEPIC

EDRI(RO@ GENIOENBIHWD Haty 6.21QRMIMI0 ag)Bd:j0ad 6. 1QRMEIimio @ooUdlE:00mes
EDODIQIOS 610 RO ?

A) Sloudq) enioses e0ad endawy B) eaug enioss e0an epadawy

C) el enioss e0ad endawy D) aye&l@ alosmmalewg)do

@USlH00608816S Qflegamo ag)m aldo quyaflaflenme
(i) &y el namenndlen smmilaliufle:o 006088165 BINMINIDYD).
(i) waleen@en 6o #:00j0/@00o MF) BONEBRINS (ICIBGMMEMBEIB NSO IS)EEWD,
MOTE6E-ERI 6).21QYMY).
(iii) waamend@land 60} 83no a6QIM) BIN@BTNOM (ICUBGHM QLIAIAOI00 621 I.

A) (i) oo (ii) 90 B) (i) o (iii) o

C) (ii) oo (iii) &0 D) oyel@d alosmm ag)gjoo
EDOM YD BOEMAISMWHS @0USlB00 GLOMMY EDTH {7 ERMNETBROOEMTY
g flafleeyam.

A) @odslesId 1 B) at020ule:0d agom cuoes

C) momyelo D) eouo I

®26)% al0QIMAIYIE af®I6T) DO JWlOR! @OMSlB6HT GoaH @B ?

A) odlad B) salw C) oaiwogo D) oaly

-9-
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26.

27.

28.

29.

30.

31.

32.

33.

34.

The Guahati High Court has jurisdiction over which of the following State or States ?
(i) Assam

(i) Nagaland

(iii) Arunachal Pradesh

(iv) Mizoram

A) (i) only B) (i) and (iii) only
C) (i), (ii) and (iii) only D) All the above

Consider the following and identify the incorrect statement/statements.
(i) The Upper Chamber of Indian Parliament is a permanent house.
(ii) All the members of Rajya Sabha are elected on the basis of proportional
representation.

(iii) Its Chairman is elected from among its members.
A) (i) and (ii) only B) (i) and (iii) only
C) (ii) and (iii) only D) None of these

Fundamental Rights are

(i) Justiciable.

(ii) Absolute.

(iii) Negative as well as positive.
(iv) Amendabile.

A) All are correct B) Only (ii) is incorrect

C) Only (ii) and (iv) are incorrect D) Only (i) is correct

The first Chairperson of the Lokpal

A) Justice Pinaki Chandra Ghose B) Justice Pradip Kumar Mohanty
C) Dr. Indrajeet Prasad Gautam D) Smt. Justice Abhilasha Kumari
Part IX A to the Constitution of India was inserted through

A) 73" Constitutional Amendment B) 74" Constitutional Amendment
C) 72 Constitutional Amendment D) None of these

Which of the following statement is/are correct about POSCO ?

(i) A special law to protect children from offences of sexual harassment.
(i) POSCO is gender neutral.
(iii) In-camera trial of cases.

A) Only (i) and (ii) B) Only (i) and (iii)

C) Only (ii) and (iii) D) All the above (i, ii and iii)

Who wrote the memoirs * Solomante Thenichakal’ ?

A) Benyamin B) Justice K.T. Thomas

C) Zacharia D) Justice Cyriac Joseph

In which State of India do you find Dabu printing, which is a mud resistant hand block
printing ?

A) Tamil Nadu B) Karnataka C) Rajasthan D) Gujarat

Which is the second Kerala Art form being included in the UNESCO list of intangible
heritage of humanity ?

A) Mudiyettu B) Kathakali C) Koodiyattam D) Ramanattam
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®IOY alOWIM @@ MoMOIM@TIOM @0OLJE:IE TVOMAIMETBRIOS GDAIEN U!RAIAO®T
£600CHNHISTIH6) @OUSIHIONERD) ?

() @0

(if) momoeIa

(iii) @PMPEMII® (ICBUD

(iv) aleaonoo

A) (i) @ao@o B) (i) oo (iii) &0 @o@o

C) (i) oo (ii) ®o (iii) ©0 @o@o D) oye&l@ alosmmal agygjoo

®IOY alOWIM (AIMOAUMB:WD aldlwe]of @I H@mROW® /MO &6N3)afISIE6)w:.
(i) s M atodeload@lon @oald c.olomid 6 mudloo TE@IE.
(i) @dgyMEWIeEAI ag)gjo @POMEIBEEWI0 BIN6EMMSIENMM® @D IOTHE:
(toaflarflw @ sley @oslaunom@siiaiosm.

(iii) @oallon 621wdmM® oo @oomeBEE Ao aloeemmsieeealsiamy.
A) (i) o (ii) 9o mo@o B) (i) &o (iii) &0 mo@o
C) (ii) oo (i) ®o @o@o D) oyl alOemmaIe@Imng)
00efld> @OAIB0UEIBUD ag)(MO@
(i) mypRledlendaymal.
(i) conydemao@Al.
(i) e@mmgleald eatomiglenio @e:do.
(iv) eeam®i cumy@mIyMAL.

A) ag)gjoo vodloeny B) (ii) oo emgoeny

C) (i) ®o (iv) o emgoemy D) (i) @o@o vodloery
@RI 10Lllem @6 OO 6)21BCAIBIVEND @6 ?

A) 2pflay aflmossl 213 eeaload B) sqilay (a1lat #3000 6000

C) eawo. en(3&dl®) (olaod md®o D) wlaa egiloy @oElanat eymod
DD BoEMARISM@IES alodg IX A Id@m® ®6¢ alO@MAIIE agay o) ?

A) 73 -00 @oemeaismd eeBU®S B) 74 -00 eoemacismo cc@EU®I

C) 72-20 r6MCRISMO 6BRU®I D) oyl alosmmaIa@ommog)

®96)¢ alOWIMM (IPOAUMNBETD oR@/a@l @oem aloemo (POSCO) cwsendlal vodlowf
36880 ?
(i) 8rulle: allm eREmETBREI AN ©y5le618 MoRE:HLOMGIMES [ 1e®E: Alwno.
(i) @atomiees6) ellonnceaailg)/aflayosimoen.
(iii) @@V M- 10M0 (S@.

A) (i) o (ii) 0 mo@o B) (i) &o (iii) &0 mo@o

C) (ii) oo (i) ®o @o@o D) auegl@d alosmmal agygjoo (i, i and iii)
‘80806 @ emM].oftd’ ag)m BOdMBMNGla R’ agf) @I @6 ?

A) enumyoaiicd B) aqdloy es. Sl. emoamy

C) mseodlw D) gyl milloes eggoavad

HDIQIOL! ag®} MoMAIMEBEM A6HflOM (A IBIERIUSEIM HFINNSS a0 E6RJ0B6)
@0_2JSI@O@ ey (aflaBlod :0emod aqVoUlleema) ?
A) oadl¥mos B) s@emosss C) mozaunoc D) um=ooos

QIONMELHOOS alFH® OO SIEBdBem, aomalle: eeal®meo allsle.gjomym
BHOROTTOL! PENMBONEBD B-LI00)alo o®) ?
A) o€leqy B) &slosesél) C) ®yslwoso D) moamoso
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35. Which of the following does not form the Right of the Election Commission of India ?
A) Right to allow symbols to political parties
B) Right to set limits on poll expenses
C) Right to decide the schedule of elections
D) Right to decide how many parties can contest in an election

36. Which of the following film won the award for the best film on National Integration
in 2021 ?
A) Maharshi B) Tajmahal C) Asuran D) Pingara

37. Which of the following statements is/are correct of Covaxin ?
(i) Covaxin is India’s indigenous Covid 19 Vaccine.
(i) Itis an Intranasal Vaccine.
(iii) It is developed by Serum Institute.

A) Only (i) B) Only (i) and (ii)

C) Only (i) and (iii) D) All the above (i, ii and iii)
38. ‘Manika Batra’ is associated with which of the following ?

A) Squash B) Billiards C) Table tennis D) Cricket
39. Asura: The Tale of the Vanquished is written by

A) Sashi Tharoor B) Aravind Adiga

C) Anees Salim D) Anand Neelakandan
40. Who started Vala Samudaya Parishkarani Sabha ?

A) Vaghbadanandhan B) Brahmananda Sivayogi

C) Pandit K. P. Karuppan D) Vaikunda Swamikal

41. The access time refers to the
A) Time required to locate and retrieve stored data
B) Time required to locate the lost data
C) Time required to delete specific data on a certain memory location
D) None of these

42. An example of non-preemptive scheduling is
A) First Come First Served B) Round Robin
C) Last in First Out D) Shortest Job First

43. The network topology in which devices are not linked to each other and where hub
acts as a central controller is

A) Mesh B) Star C) Ring D) Tree
44. Roman number system is a
A) Positional number system B) Non positional number system
C) Both (A) and (B) D) None of these
45. A flow chart is a kind of
A) One dimensional graphics B) Two dimensional graphics
C) Three dimensional graphics D) None of these
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®06)9 alOWMAIWIE aR@IET 0D\ @EOETTTNS)a ] H>00aH6[ @OCLB0006u36 @
£ISOOD®) ?
A) 0oedl@ a10dleBe8) 2flamemBd @RMIAIAIEHIMIES @OCUB:0U0d0
B) eanegsial 0.01810)6:006) aldlull dluniilenmas @oale-00o
C) alleesmmsiaflon eananycd @lo@omlendmes @oale-000o
D) @leesmmsialldd ag)@ alodgle@des aedlendm ¥looe agm @loymomlenomes
@OCLBUD0

2021 @ 6BUHle Moc@ILMEEMHN2NEs ollds.o] 2fl@mEmImas @oaIddW emslw ofl@o
ag@® ?

A) 2a0da B) ®mognaodd C) mnmyomd D) aflomon
®IOY alOWIM (IMOAUMEBEITD EH0UIEIEM MVosnITW].o] (oElI @/ VBWIWA afy®) ?
(1) e@ocuoglMd eeonflay —19 emaflen alldodl.o) 00mWeS GEGUTIR ALOGIM @6N.
(i) e0emOEY EOMESICMIV@ (WLEIMNBET HaIBWIUIENMM) QLI @6NT.

(i) oo endElgus @@en @ Afle:milafle ols}Em).

A) (i) @o@o B) (i) o (ii) &0 @mo@o

C) (i) oo (iii) o mo@o D) aye&l@ atosmmal agygyoo (i, i and iii)
‘206Nl (@ IO alOWIMAUIRIM RO nIMWeaSldlee M) ?

A) aqppast B) enfleipdsmy C) esenlld osmily D) leog
‘@O0 : BlPSHENWARIOS LD’ af)FBIVE ERO ?

A) i oyd B) @ooalad @oasln

C) @oailoy cveflo D) @eoma3 alaleemond
@O ‘UG MVMYEIW aldlaton6m] MVE™ @DOoE] @) ?

A) auuiesomazad B) eniamomas vdlauewous)

C) atemilg 6. afl. @03 @ D) eecusiemomoaile-ud
@BV Ao oM ayoflaflesom.

A) mordla) sawgd eeemEmMEimie alleenssienmaimie ealens oo
B) Ma16q]5160lom sa0Q &66mBEmM@imes Muawo

C) eaq dlvallmmuom@s moedl.ol cang Allellg 6.21Q)om ealens mawo

D) smemommymgy

®I6)¥ alOWMAIDIE of®IEM MM 621D eauab ysloUilen BmyEdanmemo ?
A) ®vEJo AUOMAIBES @D BIVAIMO MEYE:

B) oveng cnoenflad

C) @oaimomemma @oaio (210 e angy &S)

D) agpaioe eo1dl@ e=oel @oa o

BalBEEMETBI aloqo MIMUSlaflHndam®mIo, a0 B0 G (03 B6MESISNIW (aIB@T
HOUTN@DOW OMFUDDE ESIGa|0ed] Gen

A) oo B) quod C) dlowy D) ©
GO0 MU Mo ag)oM®)
A) anomalomo@ mmid milgye @en B) aunomalemgipem ;maud cilgye @oeny
C) wmemio (A) & (B) vodlwosmy D) snate@ommagl
3qQ0 21005 B0} MM @Y6M.
A) 81} ©0WaMdaUM@ (Doaflesmy B) a&laom @oadlesmy
C) w@iaom oadlesmy D) spcue@ommmgl
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46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

Indian Space Research Organization, formed in the year

A) 1962 B) 1960 C) 1969 D) 1966
World Water Day is on
A) March 24 B) August 8 C) June 7 D) March 22
Section 66 A of IT Act 2008 is related with
A) Sending offensive messages B) Hacking Computer System
C) Failure to maintain records D) Using password of another person
Serology test is related with
A) Malaria test B) COVID-19 Antibody test
C) Headache D) None of the above
Louis Pasteur created the first vaccines for
A) Rabies B) Cholera
C) Anthrax D) All of the above
Which term of the sequence 3, 8, 13, 18, ... is 78 ?
A) 17 B) 15 C) 16 D) 14
Simplify M .
(.03)3
A) 1.6 B) 16 C) 0.16 D) 160

Two numbers are in the ratio 2 : 3. If 5 is to be subtracted from each they are in the
ratio 3 : 5. Find the first number.
A) 20 B) 10 C) 30 D) 50

The average of 10 numbers is 12. If we subtract 3 from each number, what is the
new average ?

A) 36 B) 15 C) 4 D) 9
If 3*~Y=2187 and 3**Y = 243, find the value of x.
A) 4 B) —1 C) 6 D) 7

Edwin completes a journey in 11 hrs. He travels first half of the journey at the rate of
20 km/hr and second half at the rate of 24 km/hr. Find the distance travelled in km.
A) 200 B) 220 C) 260 D) 240

2 women and 5 men can together finish a work in 4 days while 3 women and 6 men
can finish the same work in 3 days. Find the time taken by 1 man alone to finish the
work.

A) 36 B) 18 C) 38 D) 20

A metallic sphere of diameter 5.2 cm is melted and recast into a cylinder of radius 5.2 cm.
Find the height of the cylinder.

A) 20.8 B) 5.2 C) 10.4 D) 2.6
-14-
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EDODM nlaclDd:000 NECUaxEM qVoeaISM Oafle:@laf QiBatto.

A) 1962 B) 1960 C) 1969 D) 1966
BRI 2ellMo ag)amoe) ?

A) ooda] 24 B) eomngy 8 C) eed 7 D) ooda] 22
2008 o2l 6ag). <l. @osE 66 ag) Audya] 200 enIMWeRSI@leeM}.

A) EOEHHIBO00Q MENBUETRID BOQIRIE: B) #miysd cmiguo anowsslowy

C) coeustd mellenmailenl aloogwo D) 26300086)s alomieu ©ale@ouslea)e:
Mle008e] OSEY NIMWOQS) HISHNME.

A) 2caidlw aldeuoowm B) esoaiw— 19 eoidlesnious aldewsowm
C) mecaiem D) ayell@d es-08)0m0ildlenmaleicd eomyo @og)
2RI alogud @G0 QIOEIM &6ens)allSloj®@ a@@y GEIWe O (al@icEoullaenomaean) ?

A) coenflay B) ¢®080

C) eomogy D) ayeel@ es:0s)mmildlenymalegeoo

3, 8, 13, 18, ... e cwrelWIeS ag)®one®E™ al3moem 78 ?

A) 17 B) 15 C) 16 D) 14
ool (0.2)*x0.27

A) 1.6 B) 16 C) 0.16 D) 160

6N3}, (Vo6 YW 2 © 3 ag)(m @oMialom@ slaloaT). snaeilad e06oslad ailnmyo 5 #0-2j0@d @l
3 : 5 ag)(M @OMII®EBE @D, )BT @DBIEOED TVO6LY HEENSEIT]D:.
A) 20 B) 10 C) 30 D) 50

10 qvo6j@-e16s o2l 12 @em. 60600 Moa@ilad allme 3 Afl®o ©:302J0@ aailw

©EINA@] ag)(® @Qdlee 0 ?
A) 36 B) 15 C) 4 D) 9

3*7¥ = 2187 go 3**Y = 243 9o @eemsI@ X 6 mieljo ag)@ ?
A) 4 B) —1 C) 6 D) 7

agyawaflad 11 aemlendlad 6oy @@ ald@TI@ILHIMM). @M WIS @DE) ald)di
20 %31 oll./menileeylelo @6n800 aldy®il 24 1. dl./meriloeclago @em o 6)2lQ®) ag)ssld,

agyawaflad avernidl ol Gjoo SGLIAIQGIGY B:e6BmTnE:.
A) 200 B) 220 C) 260 D) 240

2 (@leglo 5 aljoyarmonie Id 4 dlalavo 6)8:06ME ajd@mleoseim eeoell 3 (lealo
6 alaumone ¢.oldM 3 Glalavo d:06NE al}d@BIWIBH0. ag)esl@d 1 aoiaud @oem ceoall
aA@TIWOHHIM ag)(® GlAMvo ag)Sieeo ?

A) 36 B) 18 C) 38 D) 20

5.2 ova@lallqd alpaumes 6oy GeloanenIge oMl 5.2 em@alnd eoomes ey mileflensd

mildadleepomy. alellemedlan oo eenziailSlen)d..
A) 20.8 B) 5.2 C) 104 D) 2.6
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Kiran was working in a private financial firm. He invested Rs. 50,000/- at an interest
rate of 12% per annum compounded half yearly. What will be the amount he receives
after 1 year ?

A) Rs. 56,200 B) Rs. 56,180 C) Rs. 55,000 D) Rs. 57,180

Nivin buys a watch for Rs. 500 and sells it to Shinoy at 10% profit, Shinoy then sells
it to Jenu at 20% loss and Jenu sells it to Jeevan 10% loss. How much did Jeevan

pay for the watch ?
A) Rs. 484 B) Rs. 396 C) Rs. 384 D) Rs. 480

Find the missing term in the series.

3, 15, ?, 255, 1023.
A) 45 B) 51 C) 67 D) 63

Gun : Bullet : : Chimney :
A) Water B) House C) Smoke D) Air

Find the odd one.
1116, 288, 576, 964
A) 964 B) 288 C) 1116 D) 576

In a certain code TEACHER is written as YdJFHMJW. How will the word EDUCATION
be expressed in that code ?

A) JLBHFKNTS B) JHYKFYNES
C) JIZHFYNTS D) JIHZFYNUS

If # stands for x, @ stands for +, A stands for + and v stands for —, then find the

value of
6#13A45 @ 3 Vv 7#12

A) 147 B) 9 C) 150 D) 14
Ram is the brother of son of Madhav's son. How is Ram related to Madhav ?
A) Cousin B) Grandfather
C) Grandson D) Uncle
A clock seen through a mirror shows 7.10. What is the correct time shown in the clock ?
A) 4.50 B) 5.45 C) 5.50 D) 4.40
What is the angle traced by the minute hand of a clock in 35 minutes ?
A) 200° B) 195° C) 170° D) 210°
If February 1, 2008 is Wednesday, what day is March 4, 2008 ?
A) Saturday B) Sunday
C) Wednesday D) Monday
If P is the South of Q and R is the West of Q, in what direction is P with respectto R ?
A) South-West B) North-East
C) South-East D) North-West
-16-
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BI6ND B30 VB0 TVIMUMTIB> TAdIMEBIE ¢eRoell 6).01QYB@IdloyMM. @oega0e 12%
odadfle aleflomlossli@d 50,000/- @t @odELAIOBHE: B®aI8AN@ MowBMmAow
mlesdaflaf. 1 AUGuEBIMIGUaro &loaTilm @ldled: RIEleaMM ®E: ag)@ ?

A) 56,200 ool B) 56,180 oy C) 55,000 ol D) 57,180 oyl

mlaflad 500 ot Od:05)@10) 6@ Qo] Q106TE], Gloatlo 10% ~10BEBIEY arlemowilses) allgy.
aflemofl @@ 20% may@siiad emyaimie, aemy 10% mayemld elaimpe adlay aflg.
ag)®sl@d edlaldd aIoaflay w050 aflel ag)@ ?

A) 484 a1 B) 396 a1 C) 384 aa D) 480 ma

605} OTIA M BUHEMIILIOAI B06MOIBMIW alBo BHEENSBIT)H:.
3, 15, 7, 255, 1023.

A) 45 B) 51 C) 67 D) 63
B@OBE) : e : oflonilad :
A) eaiggo B) afis C) ays D) anw)

BRIOM BE)ENBOTH:.
1116, 288, 576, 964
A) 964 B) 288 C) 1116 D) 576

80} (I8 )8 8:0Wlals000 TEACHER agyoma YJFHMJIW agimy agyeymoo. ag)sdl@d @oes
@>00W (alex000 EDUCATION agyrmad ag)sodlom agyeymio ?

A) JLBHFKNTS B) JHYKFYNES
C) JIZHFYNTS D) JIHZFYNUS

‘# agma) ‘X’ @LeeMEI®, ‘@’ ag) M+ e, ‘A’ ag)M®@ ‘+ GoeeMEsITd,
V' aMm® ‘= BREEMLIGD, @IOY 61E:0S)OBIdlenMEIen allal semsiallSlead..
6#13A45 @ 3v7#12

A) 147 B) 9 C) 150 D) 14

000 MOWAIOHM a RO a RO MVEAOIBOM @YEM. ag)HHIMT G0 MOWALENF @6 ?
A) sl B) woanocd (auelyolad)
C) @02 memd((woagavend) D) moomoaid (@osslid)

630} eghOLsflOal Ao EeMoSIF@ 7.10 ag)mmy oenlenamy. ag)wsl@d egoesld @oensl o
@LOOA@®A VAo ag)(@® ?

A) 4.50 B) 5.45 C) 5.50 D) 4.40
80} alsle00lea aladlg auyefl 35 adlmglad w:0enileanym esxoemlon @oaaal(@® ?
A) 200° B) 195° C) 170° D) 210°

eanEnId 1, 2008 e@) enywmoval @oeemssl@, moda] 4, 2008 agy dlaumo
@OV @lH60 ?
A) olwoyal B) emowonoyal C) enpwmogal D) ollse09al

P’ agme ‘Q’ aflod eme; @dmnamyo R’ agmme’ Q' &0 alSlenmony @onamyo @oesmess@d
P, 'R o ag®y dloodd @oideso ?

A) o6®#s — alslemmoo B) cus®es — less)

C) omas) — 5196y D) aisses — alslemmod
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72.
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74.

75.

76.

77.

Write the synonym of ‘akin’.
A) Divergent B) Original
C) Similar D) Duplicate

| don’t know if he is coming. Here ifis used to
A) Describe a permanent situation

B) Refer to the past

C) Introduce a comparison

D) To express a doubt

The house is so dirty. | really must clean it. What is the use of the Modal auxiliary ?

A) To express Obligation B) To give Advice
C) To give Permission D) To denote Ability
He a large bill at the shopping centre yesterday.

Choose the correct phrasal verb.
A) run of B) ran out of C) ranup D) ran on

war never solves anything.

Choose the right determiner.
A) Any B) The C) A D) An

The train will arrive at the station at 6.15 PM.

Choose the right adverb.
A) already B) usually C) exactly D) always

Rosa Parks was thrown off the Montgomery bus for refusing to give up her seat to
a white passenger.
Which definition fits the phrase thrown off in the above sentence most appropriately ?
A) To make something move through the air

B) To push something out of your hand

C) To catch hold of someone

D) To make someone fall down suddenly
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They can't decide to travel north south.

Use the right connective.
A) both ... and B) either ... or
C) whether ... or D) neither ... nor

1. I must remember to pack a holiday book.

2. My mum says that we must pack soon.

3. We are going on a holiday to the sea coast.

4. 1 am really looking forward to it.

Rearrange the jumbled sentences in a logical manner.

A) 3,4,2,1 B) 3,2,1,4

C) 2,1,3,4 D) 3,1,2,4

a) The ball hit me straight in the

b) | tried to thread the cotton through the of the needle.
Choose the right word to fit both sentences.

A) head B) face

C) eye D) nail

Great oaks from little acorns grow.

What is the meaning of this proverb ?

A) Making a little effort now saves time later.

B) All great things start small.

C) ltis easy to forget something if you can't see it.

D) Do something over and over again until you do it well.

096/21 — M

Heis a of the old block.

Complete the figurative expression.

A) leaf B) bark

C) root D) chip

In order to travel, you need a passport. , you might need a visa,

immunisation jabs, and fulfil quarantine conditions.

Complete the sentence using the most appropriate connective.
A) in addition B) in short

C) in case D) in spite of
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85.

86.

87.

88.

89.

90.

| have seen her

times this year, but not very often.

Complete the sentence using the right.

A) alittle B) much

C) afew D) many
When | got to the hospital, she (sit) in the waiting room.
Choose the correct tense form.

A) sat B) is sitting
C) was sitting D) will sit

I will wait until | (see) him.

Choose the correct tense form.

A) see B) will see
C) has seen D) saw

| waited nine O’clock and then went home.
Choose the right preposition.

A) during B) after

C) from D) until

You have to take an exam
Choose the right option.
A) passing

C) have pass

My daughter is quite shy.
court.

the course. (pass)

B) to pass
D) for pass

, she is an aggressive player in the badminton

Choose the correct adverb.

A) furthermore
C) necessarily

B) consequently
D) however

Identify the correct spelling.

A) colloquial

C) colloquail

B) coloquial

D) coloquail
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92.

93.

94.

95

96.

97.

98.

99.

100.

OOV alEen®) ?
A) @ocuuwmd B) @naigimad
C) @ocumw D) @ocuuyemd

AW (LI JEO® ?

A) g0 oIgsloval GmINI0 @OAIOM B6MIONS.
B) @ocuad agygjo dlaimane almo.

C) ememB®d 80600 afls)emonio msmmy &-6ena).

D) e6®: 2pndle@ emosyallentem oo afl@o.

In accordance with — pofllmao 0eIWIg aldlE@Iaucw ?
A) @O NVaQOD B) @omosmociweo
C) eommymdlaf D) @naiimianoen

8RBV — OQQTOM @O0
A) »oodlno B) wvoalo
C) volleo D) woro

. OO ag)MAd@mN0 QUM alBGER®) ?

A) cudcuem B) 21daiem
C) oodiles D) aupel
QUflaldl® alBem)ERE: — OV

A) aflemo B) alemo
C) @nalomo D) aveao

@OCEIOBI6NS OB 2IYE> — ag) MA@ QUMM 6Ll of® ?

A) speidilg) alallgyes B) ealnsiallg) allgsne
C) ®s)a0e05@ ®aiaisie D) @nsleng] mocmdes

‘oo 1dM — ag)aildelloo ag)Pmyss.

A) ool B) woaflod
C) woais D) woaf
aeflotd enla0il2IMEn® ?

A) disyenmod B) ®yglesid
C) =memswd D) @owyoaiesd

afldlerojey@mye: — enamil
A) sood + &0 B) &0 + ol
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